BT K 05 SR RS A 43 4 A A P.|
LR QLSS FE % i 73~
AR A BT TV,
V| mEmsam
Lk 2 H

O HHUHTHARUNEROBENE | MEE 4y -
o HRMEMNHE2E-

1. (10%) % AAE4T 3 4R 5 ) (power) » A B B A HhZ Rk -

2. (10%) 35 ARS8 3]+ JoAs PR SE 32 (central limit theorem) » ¥ RPMAALBRAR @® -

3. (15%) XREMAHENBHAZH RSB ATE G L ¥ F3H8H 25,000 70 4R E £ % 2,000 7
(1) (5%) = REMAdH — i g8 A - K5 H A 21,000 7T 29,000 /T2 )4 & &y 47?
(2) (5%) &ML HY 16 40k 6 3 8% A+ L34 # R 4 24,000 705 26,000 702 R 5 A 42
(3) (5%) XM EAAt & M8 A2 Andi 1,000 T KR H 4R 5 BAR?

4. (15%) XL AMAH 100 PAE > HPdmbkbBomBar -

(1) (6%) #4310 $ 4 & » SR B (without replacement)dbth ik b i 3% 4 > B 4 X &idh
Ay A RB] X 2 & B A?

(2) (6%) 2438 10 %4  » gk ) (with replacement)dbdh k4 th 3 4 » B4 Y AFbdiey
Aok S WY 28 F 5 ELAE?

() (3%) FHHHAAN 1000 444 & » B U RBE Fo K @44k db il 30 44 » B4 X &
AT GEEM B, REA DY AR AB O A BB AS R X @Y
A A 5 e 2 B MY

5. (15%) 8T Motk e B M 40 R4 M AR 64 & ok [EARAN 25 100 4 dedbfn 100X B HER T !

\ & A
Sobk 20 80
i 2 30 70

PR KB a=005 T A RMRE F R RRE LM RAMHNBHMROE LA B LR s
T AR R & R RE — BRVE TR W7

CEEHEEHARADP

ﬁ%?ﬁﬁﬁ*




BT KB 95 B E P A A R 2

A5 it g A =R #8 %

b
e

2 13 -1

BB TV,
v | MR R
AWML 2 R

6. (15%) ZXRMAT » £ X BHW-TIH3 2 90%4{5 & M (100, 120) »
(1) (6%) 3K sb A% Rl T34 B2 45 445 1 90% 3% # 7 IR (ercor margin)?
(2) (A%) R M-PIIHA T F 4100, 12002 1 - RAHRATHHEF %4100, 120)2 72
(3) (5%)R 3t b BT 32 95%0 45 M & 1) o/ P13t 90%e 15 W@ R B/ 2 th R Y

7. Q20%) ATMAET SN EAH N MERELMERMOEY  MRER 15 28Rt 4210
uE bl R RN T BIEAEIE A f,=5785, MERBREMEAL=-170  EB R UL
S -7 =160.2 0 SRR E T Fu X (V, -V )P =62.82 o
(1) (B%)H B ik W Eehtti@ifz ANOVA % -
2) C%MaEH,: B =0#NH B, #0 (x=005)-
(3) (3%) K K #| & 1% ¥t (coeflicient of delerminalion) »
(4) (%)X KM ARAR M 5 8 -
(5) CWHF AT LHHMA S LT RBMNAME g -

&R
20‘025 = ] 96 ] 7’0_05 :1645 N Zoy = 128

Yooss (1) =5.024, Aogs (1) =3.841, x2, (1) = 2.706,

Fo.ozs(]v|3):6~41! Fo.ozs(l'14)=6-30’ F()_os(l,13)=4.67, Fo.os(]:14)=4'60




